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MRk EH 4R 55,644,600 50,586,000 (A) 5,058,600
P AL G R o 60,486,800 54,988,000 (B) 5,498,800
ERIES SRl 50,798,000 46,180,000 (C) 4,618,000
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2 REPFRMIRAKBENEMBEISE No. 1
RETEEALD HRAERR o
i = - — . = — R A
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[ERRE =y
1| T = 37,466,986 = 40,948,537 3,481,551 HE%H
| ERHE T = = 0
11 3 A = = 0
ERZENE X 37,466,986 40,948,537 3,481,551 H4%H
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1| Hmaeg = 1,695,395 = 1,796,696 101,301 %8
I SL5E P =X 4,735,353 F20 5,021,464 286,111 HE%H
I —fEes = 6,688,966 = 7,222,061 533,095 HE%E
HEEE 13,119,714 14,040,221 920,507 HE%H
&t 50,586,700 54,988,758 4,402,058 HE%H
TS T-H AT 50,586,000 54,988,000 4,402,000 HE%E
THE LA % 5,058,600 5,498,800 440,200 H4%E
AR (L) 55,644,600 60,486,800 4,842,200 HE%H
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Al | BRI 1 = 20,578,543 1 = 22,009,097 1,430,554 H4%H
A2 |FHEEVE AR 1] =X 16,888,443 1 K 18,939,440 2,050,997 |Ha%H
&t 37,466,986 40,948,537 3,481,551 HE%H




2 REPFRMIRAKBENEMBEISE No. 3
SRETEEA] HRAERR e
= - — = - R A
& =i i3] = B % = B {7 24 ESIEHE FE
Al | REPER
1 |EB R T 1 = 3,020,470 1 = 3,020,470 0
2 |BhkiETH= 1 K 7,751,159 1 K 7,751,159 0
3 |[BEMELE 1 = 2,180,555 1 = 2,180,555 0
4 HEEKIETHE 1 =X 3,419,299 1 = 4,737,693 1,318,394 |H4%8
5 |BENETE 1 = 769,710 1 = 769,710 0
6 |[Fofi T 1 XK 2,466,800 1 = 2,466,800 0
(N E Y U 1 =K 970,550 1 = 1,082,710 112,160 H4%H
g 20,578,543 22,009,097 1,430,554 H4%H




2 REPFRMIRAKBENEMBEISE No. 4
SRETEEA] RETEHER st
& B w = T T o1 aE B T o4 ED|EEE KE
A2 |HEAPER
1 |EB R T 1 = 3,013,740 1 = 3,013,740 0
2 |BhkiETH= 1 XK 6,810,296 1 = 6,810,296 0
3 |[BEMELE 1 = 380,640 1 = 380,640 0
4 |AhMEEKIE T 1 =X 2,826,168 1 = 4,877,165 2,050,997 HE%H
5 |BENETE 1 = 161,531 1 = 161,531 0
6 |[Fofi T 1 XK 2,422,784 1 = 2,422,784 0
(O E Y URAE - ¢ 1 = 1,273,284 1 = 1,273,284 0
&t 16,888,443 18,939,440 2,050,997 |HE%H




